2 Unit Mathematics Assessment 27/2/1998

Year 11
Question 1.
2 a) Evaluate “4—+4£ correct to 2 decimal places.
2 W A person's heart beats approximately 72 times per minute. Assuming there are

2

2 qd)
I e)
2 0

365 days in every year, find how many times a heart would beat in 70 years.
Give your answer in scientific notation correct to three significant fi sures.

The radius, r, of a conica} flask of height / and volume V is given by r = o

A manufacturer is required to produce two conical flasks each having a

. 3 . . .
volume of 1 000 em™. Calculate, in centimetres, and correct to one decimal
1

place

(i  the radius of the conical flask of height 50 cm.

(1)  the radius of the conical flask with height and radius of equal
magnitude.

Graph on the number line the solution set of —12 < %’—x <4,

"At Gosford High there are four houses, so that the probability that

O.8.U.will win the next swimming camival is z - Is this statement true or

false ? Explain in no more than one sentence.

Express with a rational denominator —5
: 7 - 25

Question 2.

2 a)
2 b
2 <)
2 d)
2 e)

Solve for x ; ’1 - fo =

Find the exact values of x if  (x — 1)'2 =

At Octopus Communications' annual sale, all mobile phones were discounted
by 40%. Arun paid 3156 for a mobile phone at the sale. What was the original

price of the phone?
If x3+4\/_ \/_5+\/_0+\/—2 ﬁndlhevalueofxand)

Show that the recurring decimal 0. 47 is rational.

2 0 Solve for x: |3x - 2| < 4
Question 3.
3 3
2 a) Factor fully : Xy-xy
. . 1 1l —x

2 b Simplify : I~ =
1 ¢ Solve: iy 4-x=5
2 (i) 2%-Tx-4=0
2 i)y 2=(1-x)=3+2
2 (v) x*=0x
1 d)  Find the value of x if 2* is half of 2**°
Question 4.
2 a) Solve |5 - 22|23

Ix-2 2r+ 1
2 b Solve 2 - 3 =5

2 ¢ Factorise fully

a2—-b2—3a+3b

d)  Factorise 8% — 1000

e) If x +% = k what is the value ofx2 + 1—2
. x
2 0 Solve the simultaneous equations 3x — 2y = 8 and 5x - 6y = 16
Question 5.
2 a) Solve for x: |x + 7| = 3x-1

3

2 b) Findintermsofa(x - D(x’+x + 1) whenx = & + 1
2 (c) Solve the simultaneous equations

xy = 8Bandx+y=6 :

! A . a-> .. X=3

2 (D) Simplify (i) — (ii) x2 .

1 -
2 () Simplify ’l“:x+’{+i

2 (D Findtheva]ueofxandyifx+2y+2\/§=11+\fx—y
3 Unit Only a) Solve pn E 3 =1

b)  Write downa quadratic, in x , such that the quadratic is greater
than or equai to zero if x < —2 or x = 3 and less than zero for any

other values of x.



; 2 \i,,_J',\_,- }Qa_sgt-:.ssm_im.r—r

—_—

. . . r \3 )( - ) - Yo
- A .. L:’) L= o AL ) .
“ @ G-t %zl _ W30 (1 4oy
292 ftagy ! [ PR
.. N S _ B H . -b)(c.*\-\g) -'S(C: —b)
: 2 . 5 N S o3 - (& 3 _
i . b {rs . S 2 _ > a2 e : - (3 &) ) - ) 1+L311\[§ 2 1 ey
I DR SR i B &y |l zm| = % e [ T
i * . 2= (120D = Gy - _31_-\1_.:}‘4r \L)_D - ]|+J.:-r.-~_-_\
= 2-5% Im2oe =5 ey |- 2a e -5 N .z, d) L - lsea = . .
- _ —_— . -
e e = o2 : g (xPm12) AH =D - T AT N Ly
B) 2. e3xa" > 2.2 %=z S : @ By 1D (o
L IETE) RN FRITE cme
- = - g = —
3v o1 ) 0y bex =3 X 128D ©e 3y =g
<)) -T" = E b Lj“—l) = .o ; - "—"_‘L—L—““ L TR R Y oe e
T r . .Jk-- CH) Q"*é“‘) = oL b i}, Sa¥s) et (1
'_')L_]':.F e -t = 77 Moo= -1 ] 5ot M=-32 PN (&S]
) =z [Sxrees ; o ) S L R R
TTxsh Xz Toev 143 U'""_) 13_“_‘]_7:_—1.;. =< . . Ty 51_7- = (14 3‘:) ek A rE = un
‘ (a)(_ —_— = % ,
- otk e <y Go uL = fﬁ’::’;(o (12.1'1)(1" HD':‘: = }21_'-2 - ' e = m
. o oy N ~ex 1% =0 , .
se 2oow 1% =~ = ) L= AL : - o0 =7 = =3
w2 e ;W 10 e ’ ) 3)(‘_13 =% - -0 (3'« ~ul (-2 =n 0 3
- =3
2 teo L o WLy =- (l-J‘-—) 3 a2 LSag, —-tot-j =l - R = iy
L Lo ——
T oF ' evie , = 2o —1 A : . IL= L, ar i 3
T ° TﬁbL pres 3 A A s Uy x3 CIJL-ebzzx.;,---ts) ! <D - % |
T . oo Jrou & 342 . . : ) Setosd vnde \ao | -
hy T <) xds—r—m—fni\\:{w@wﬂn —_—e gt > ‘ Y- Ly =% Y=o e L Sidd ol prs: a='g
- . ’ = . el 2 .
~ Tt e SN -V JJ‘M{S #¥uds SN S P = = Sooos a { ey D=4 “ 3= =
2 % _2;_5_‘.#_ = SjSl-l'l-y\Jr5-+2J3 PR, . . Swbet D= g [45) Y=y Y= S
) 200 &bz 2 s enls x(2e4) =o . G-y =% e 2=
R i < a ] e
: =77 =5 - SR Yy @ s
~1g e S 2G e ' 3 i P} _ ) T b st J;
P I3 s Gt s L= 2, 9 = ) "::,_ = )
o e bd xororuvnrgT. . b ) ~ 3 oy
» S _ , = -
-1 Volesa P T bAIgY . fas 2. 259 Sues & @ .~ '
. . . _ - a4 e X
&) Fola: Soimmees  |eo-10 o = LP: e = 29 ) \3‘-*'11 = 33—y . at-q <
. - [ . - .
Ay oM o¥ Mae Soean . = qq CAFT S 300 oy 3<_+';-:-(5;‘_D T =3 U
ale iy Sues : % - (22 (x-3) A
. e T e e C,‘) ),_;__.2 }23 ) _ L == ) ' . T
) 2 —_—— b= e LY - x+3 = (
-2 s 5 [33-2) & o rn foz o 3 & £ = 8= (ea)(se-)
. 7+2fs E = ‘i sl Seludiias: X et \3_— X n o
HLCTR R w2 ez » ¢~
T S 2+rds = B3 gy 2 . = I 2 ey xzol b e> T oo
[ > 7 J..ﬁ ) .
= wz+iale TR s 3 50 Jra]= 2 [ % = heGny ) () s G-
%o~ 20 -213 L o0 £ 2 1) -3—1;-3‘ - 3;)1;5;' =< . T | Fedra. - U N
* -—.__.._,'-*'7-’“"-‘-": Fuesdion 3 2(3x-2) - (2e4)) = WO 2 =g w P2 e e o
29 &) 3_3‘3_.1_33 Ly ~tp — o] = 4O —_— Q"J‘-)Cl’h-kj
. :.) .“'-"‘-""'5 = ub
-,_;ac_:) (.:n s Lyot =g .
: = 1%
T oy (DLJI':))(.JL-—:J) a2




	1998 Task 1
	1998 Task 1 Solutions

